1.  Choose the right option to fill in the blanks :

: RV o Dinesh at the bus stop where he .............. for his cousin

(A) see, uses to wait (B) was seeing, is waiting

(C) have seen, wait (D) saw, was waiting

2 Choose the right option to complete the statement :
During our Mysore visit we met .....ccoesrmiriee: WAB really interesting.

(A) the person whom (B) a person who

(C) person whom (D) her she

Choose the correct indirect form of the following' : \
The mother said, “Tom, when are you suppued to reach ‘home 7

Choose the correct sentence : A 4 ¢
aske-d Tn:n when you were supposed t0 reach home.
en was he supposed t0 reach home'

posed to reach home.

(A) The mother

(B) 'rhg mother enqmlrod ﬁ-om Tnm wh

(C) The muf.har anquuad from Tom if he was sup

4 Choose the correct active voice form of the
iﬂsomstahaﬂwmxtmmpion_

It is believed that Satyam
ammguingtnbctlmnm:hamﬁnn_

(A) People believed that Saty
ﬁavethatSatyami!ph:gwhuthannﬂMpim.

(B) People be
(C) glmhpmmbehlh?adnthanaﬂchamﬁm.”,

m}_&t;nmi.pingtobathe
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i tence :
Choose the correct passive voice form of the given sen

D“‘“‘Pﬂctmwmdmnawhmh?
(A)

(B)
(C)
(D)

(A) 1,23 B) 2,3, 4
C© 1,3 D) 2,4

8. - Chmuthuopﬁmwhlchmnmphmtheundarhmdmgmmtwiﬂmtm
the meaning :

Following two decades in teaching, she turned her hand to publication.
(A) applied herself to (B)

(C) turned away from (D) grew fed up of
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8. :
Indicate the 8ynonym of the underlined word :

The disagreement underscore the complexity of angoing negotiation between th,
parties. "
(A) destabilizes (B) hinders
(C) highlights () combines
10. Indicate the antonym of the underlined word :
The tension due to conflicting views points to protracted discussions ahead.
(A) curtailed (B) sheltered
(C) obligated (D) extended _
11. ld&nﬁfy&um@mmﬂmwhﬂlhammdthem&mmw
Pradesh :
(B) The Siul river

(A) The Patesari river

JRp— @) fa@ =
© ® der
(2. In which of the following distriets of Himachal Pradesh, the Thamsar Peak is
located 7
(A) Lahaul & Spiti (B) Chamba
(©) Kinnsur (D) Shimla s
mm!&ﬁmﬁmmiii‘hmuﬂﬁﬂlﬂf ?
(A) wrda-wdf (B) =w=n
) fe=in (D) fersen
A\ OadNSd@ e

.



13, Which following is correct of the Chanal community of Himachal Pradesh ?
(A) Tt treated somewhat lower to the Kolis in Kangra district
(B) It is declared nnMﬂdTﬁh
©) Its women do not Il!ﬂnh liquor

(D) mmmm“fd;mhmmtﬂlt

ey S g
2 ﬂf’thﬁdlﬂtﬁctnf!ﬁ .
mﬂchuleduathuiﬂzal t of
used for 7. ﬁnninzugﬁ_gl: argest number of Tanks
(A) Kangrg B) Bola
(C) Sirmayy ) Bils
8pur
wﬁﬂ‘iﬁﬂnﬁ
mnnﬂﬁqmﬁ
oo ® wim 5§ o ﬂmmﬁmmm;m
A wmm (B) wwem
(C) farin

15.  Which district of Himachal Pragesh

Population between 2001-2011 2

(A) Kinnaur (B) Lahaul-Spiti
(C) Kangra (D) Hamirpur
mmiﬁmﬁMﬁQﬁzﬂmmuihMHmm
THWET o 7
(A) f&=in (B) =méme-wiifa
(C) wimgr D) wHR
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(A) 4.1pe @) 4.6PF
(C) 3.7 pe D) 2pE
Tﬁﬂmmﬁﬁmﬁﬂwmmm%h
(A) 4.1 vhrm @) 4670
(C) 3.7 wfwwm o) 2w

7. Which following percentage of subsidy has Pe°? decided by the HimachalPre,
Government formmmnﬁmfﬂﬂ“““"ﬂdwwmbmw“*
for irrigation purposes ?
(A) 65 p.c. (B) 40 p<.
(C) 50 pe. D) 60 pe.

wells 71 % fory axfey

mmm#ﬁmﬁfﬁwmwdhmshtﬂw
e frat fadta e 8 @ G fem ¥ 7

(A) 65 wfam (B) 40 W@
(C) 50 wiawma (D) 60 wiavm
18. mwforpmdmﬂwtﬁmmmm+ﬂﬁmﬂmuchalﬁaduh
is :
(A) 34 Tonnes (B) 41 Tonnes
(C) 30 Tonnes (D) 40 Tonnes
ad 2024-25 1 fearem R &
() 347 (B) 41 =
© 307 D) 40z
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21.

mmummmmmhmmw
)
Ilﬂhpmﬂ.h:

(A) Pive (B) Three

(C) One M Four
“‘*ﬂ«m:m..m.,.m;glqmm*lm Tw W fer
™ (rank) ¥ ;

At (8) o

©) iy @

‘ht&“" Plinhrurmuum w.whm'lﬂrwli
Dulhan®) from the followhgexams in

W Bobha Bing, (B) Amrita Sher-Gill

(C) Nicholay Roerich ) Devika Ragj
"“""W"{“‘“"Wﬂw*:ﬂuﬁmn.tmmwm
8 alifwy .

(A) ww fuy (B)  zwp gy e

(C) Frvem g M) w1

Which following cantonment was firs “stablished in Himachal Pradesh 7
(A) Kasauli B) Yol

(€C)  Dagshai D) Babathu

P.T.O.
TB.C. : 2024/ IMAP-1—B 7
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The T
Chamba Movement (1895 A.D.) took place du b rae nf"'u

(A)  Gopal Singh (B) Sham Singh

(C) Bhuri Singh (D) Sri Singh -
fom T ® o @ 1895 4. W wan e 17

(&) e fie @ wm fae

(C) of fuw ) o T

Identify the Himachal Pradesh Legislative Assembly election in which aj) .

women were elected, from the following

(A) 1998 (B) 1990

(C) 1993 (D) 2007
mmﬂmmwﬁmmﬂﬁmﬁmwmm
frefafaa 4 Fi9U

(A) 1998 (B) 1990

(C) 1993 (D) 2007

The Sui Fair is held in Chamba in which following month 7

(A) February (B} March

(C) April (D) May

o & g e wra frfefen W # @ E 2

(A) w= (B) @

(c) A (D) W
mwr-suuﬂmmmhmm.i bitants in 2023
(A) 19 (B) 21

() 20 D) 22

mﬂ#mﬂﬂumﬂm'ﬁﬂmimma )

_30!'-1 19 (B) 21

ne D) 22 .



1y the Article of Indisn Constitution which provides that the use of English

: '“ﬂhuu-h-pﬁudﬂmmﬂum
e C«!Il.llutm will eontis

A Arti
| - 341 (B} Asticle - 343(2)

(I Articke - 341(2)

- % e
g ™ T Artice) # o & o e € 7 9 2 15
(A “mi‘“*'ﬂﬂltﬂwm:

(B) W0 - 343(2)
(C) ) ) Y
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. Which
followi : ha
ng India’s percentage of coal is in Odis ?

(A) 24 p.c.
(© 36 pe. (B) 31 p.e
mmmmmmfﬂ} 20 p.c.
sifewn d & 7
(A 3¢ Wwm (B) 31 wftrera
(C) B84 wfowm (D) 20 wftrer
30. In which following state of India the folk art of Cheriyal geroll Painting g
practised 7
(A) Chhattisgarh (B) Uttar Pradesh
(C) Telangana (D) Uttarakhand
m*mmmﬁCheﬁdecmuwaﬂwt £
A v (B) ¥ w2
(C) &= (D) TaUEE
31. Identify the river over which the Tehri Dam is built 7
(A) Yamuna ~ (B) Bhagirathi
(C) Ghagra (D) Brahmaputra
mqﬁ-ﬂwmmﬂmﬂﬂqﬂt ?
(A) I (B) wnfreedt
(C) ==l (D) wEqgA
32. m-rummdxmsmm-mhwhmﬁmndﬂd?
(A) 1956 (B) 1960
(C) 1965 (D) 1969
wredta siafiy e wneA (ISRO) 1 v w49 § ?
(A) 1956 (B) 1960
© 1965 D) 1969



 goes the World Happiness Report-2024 place India ?

w (B) 120

p
"~ 26 D) 118
iaﬂnpﬁn““w'mﬂ YIRA w1 @ e ¥
:ﬂﬂ 116 (B) 120
o 196 D) 118
yaentify from the following the Bastille Day in France -
S 14 July (B) 19 July
© 38 July D) 27 July
#ﬂ Bastille Day &t wgam frefafam @ o
@ 14 I (B) 19 e
© 2 I D) 27 e
Identify the country, which has the largest number of World Heritage sites in
W37
e @i g
! | 1€) Germany D) Italy
| W W e A, fe w2003 we s v o v @ 2
'i W wra (B)
- (C) R M) =i

In which following subject Louis E. Brus got the Nobel Prize in 2023 with twe
other scientists ?

(A) Medicine (B) Chemistry

(C) Physics (D) Economic Science

mg.ﬂmaﬁﬂmﬁaﬁaﬁﬂfﬁﬁzmaiﬁmhwﬂumh
foen % 2

(A) Medicine (B) Chemistry
) Physics (D) Economic Science

v 1 2024/ TMA/P-1—B 11 P.T.0



37
T W o e S
wide economic crises, held on
(A)  September 1929 ini Wmmlm
(€) August 1929 D) Octobe? 1929
fmmn Stock Exchange # Wall Street @ e pre 7 9 fres ™
H¥H?Z Fu L >
S S 2039 ) feea 1929
N R 18 ) s 1929
38. Identify from the following, who is regarded &2 tho father of SIREFRT
(A) Kenneth Kaunda (@) Saint Mariny®
(C) Lee Kuan Yew . (D) Aung 5an
W*“ﬁwmﬂmaﬁmﬁnwﬂﬁm=
(A) Kenneth Kaunda (B) Saint Marinus
(C) Lee Kuan Yew (D) Aung San
39, How many European Union member countries use its currency
(A) 19 B) 21
©) 20 (D) 18
mmﬂmwtﬂmwmmmt ?
(A) 19 (B) 21
(© 20 ) 18
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(A) TT=I warfg

e L
: 4 (D) ==
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&

(B) s/7m,
C) vp= o

o mﬂﬁmu_.@-ﬂ Y ?ﬂﬁ-‘h:
(A) 2 8 uwgam fam &
M = & = &,

© 2 & T g w wiw wh @ §
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47.

C) frm-faveo

X ¥ wrm = 9A s wer = §) rmifen T

(A) TEaEfuasTe SysagsEas
(C) TEw=irae

oE WWT Swen weeaTen &1 TEmifea wmaa 9s 8 @

A) = wegsw
(C) =HTo1 aogsw
‘ ayeEyEn w1 dfa-fasae R -
(A 33— +~ =J=T

P ) =Heg + ==9

(

)

(B)

o)

(B)

I

(B)

)

WW
farrrmp i ET T

=ifa=

-

==

Frfofaa § @ fea ama § dgwa few wgea @ &6 ¥ 7

A) TS Trea ower g T

B) =E R FWen SgHI wen A
©) =% =TT WE @ T

@) Fwm W FeT F owE S A

50. miﬁﬂwm'm'aﬂmﬂt?

A) Y=
<) ==
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